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Instructions for the Candidates

Write your roll number in the space provided on
the top of this page.

Answers to short answer/essay type questions are
to be given in the space provided below each question
or after the questions in the Test Booklet itself.

No Additional Sheets are to be used.

At the commencement of examination, the question
booklet will be given to you. In the first 5 minutes,
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(i) To have access to the Test Booklet, tear off the
paper seal on the edge of this cover page. Do not
accept a booklet without sticker-seal and de not
accept an open booklet.

(ii) Tally the number of pages and number of
questions in the booklet with the information
printed on the cover page. Faulty booklets'due
to pages/questions missing-or:duplicate or not
in serial order or any other,discrepancy should
be got replaced immediately by a correct booklet
from the invigilator within the period of 5
minutes. Afterwards, neither the question
booklet will be replaced nor any extra time will
be given.

Read instructions'given inside carefully.

One page is attached, for Rough Work at the end of
the booklet before the Evaluation Sheet.

If you write your name or put any mark on any part
of the Answer Sheet, except for the space allotted for
the relevant entries, which may disclose your
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You have to return the Test booklet to the
invigilators at the end of the examination
compulsorily and must not carry it with you outside
the Examination Hall.

Use only Blue/Black Ball point pen.

Use of any calculator or log table etc. is prohibited.

10. There is NO negative marking.
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NOTE: This paper is of two fhundred (200) marks containing four (4) sections.
Candidates are required to attempt the questions contained in these sections
according to the detailed instructions given therein.
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SECTION - I
Qug -1

Note : This section contains five (5) questions based on the following
paragraph. Each question should be answered in about thirty (30)
words and each carries five (5) marks.
(5x5=25 marks)

e T4 T H frefafad eese W efia Ui (5) W99 § 1 Tesh 99 &l W
T A (30) W A omuferd B0 W WY U™ (5) 3Rl W R4
(5x5=25 31eh)

Scientific management focuses primarily on the work to be done. Atfthe heart of
scientific management is the organized study of work, the analysis of workiinto its simplest
elements and systematic improvement of worker’s performance ofteach of these elements.
Scientific management can be described as a systematic philosophy of worker and work.

Scientific management, in spite of the hype that it created, has net'completely succeeded
in solving the problem of managing worker and work. In the words of Peter F. Drucker,
“Scientific management has two blind spots —one engineeringsand one philosophical”. The
first blind spot is the belief that since work has to_be décided into the simplest constituent
motions, it should also be arranged as a series of individual motions - each motion being
carried out by an individual worker. It is quitescorrect to state that work should be analysed
by the motions that constitute it. But, it is an erroneous view that by confining the work to
an individual operation, one can do the work in a much better fashion. For the human
resource to be used productively, the individual operations must be analysed, studied and
improved and jobs be formed out of‘these operations which utilize a workers specific talents.

The second blind spot of sciéntific management is “the divorce of planning from doing”.
Work becomes more effective,and productive if it involves a good amount of planning. It
would be absurd to say that the planner and the doer should be two different persons just
because planning and doing have'been separated in work analysis. Planning and doing are
the separate parts of the same job. No work can be performed effectively unless it includes
both these elementsi, As Drucker very aptly says, “Advocating the divorce of the two is like
demanding thatswallowifig food and digesting it be carried out in two separate bodies”.

The two,blind spots of scientific management help us understand why its application is
met with resistanee from the workers. As a worker is taught individual motions, he acquires
habit and experience rather than knowledge and understanding. As the emphasis is placed
on théidoing aspect, bringing in change would cause the workers to feel insecure scientific
management does not take into consideration the fact that change is inevitable and one of
the ‘major functions of an organization is to bring about change.
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1.  Examine the opinion of Peter Es#DPrucker on scientific management.

X T, THT & Aok Yo Taari o1 GeTor Shifeld |
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2. What is the essence of Scientific Management ?

ERIBERCR R e tlc )

3.  How can the divorce of planning and doing improve the productivity and effectiveness
of work ?

ST TR RIHIRA ot O ford Yo SR 1R 1 hi GHTaRferd i 9@ Hehdl @ 2
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4.  Why was there resistance against acceptance of scientific management by the workers.

Afteni §RI A Je-eH o1 o799 § faie =i o1 ?

5.  What is the engineering part of sciéntific management ? How does it compliment the
philosophical part of it ? Explain.

(TR Fomer B SR Yee] 31 97 a8 fhe YR 38k Sifeh et ol T &2
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SECTION - II
Lug —1I1

Note : This section contains fifteen (15) questions each to be answered in about thirty
(30) words. Each question carries five (5) marks.

(5x15=75 marks)

e THEEH Ugg (15) U9 & | Tcieh T hl ST TN 19 (30) Tsai H 7ufard . It
U9 9= (5) el R

(5x15=75 3{eh)

6.  What are the salient features of Monopolistic-Competition ?

ThHTTRR-SfalfiTaT o e qafon & &7
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7. What do you mean by Circular Flow of National Income ?

TSI 3™ & JAHR JaTE F .1 A9 T2

8.  Explain in brief Maslow’s theory o

T & AfuTon fagra &1 9
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9. What is Balanced score card ?

NS TR HIE F & ?

G

10. Write major functions of a Trade U

it 99 % JgE * fafan, %
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11. State derivation of cost of debt adapting both book-value and market-value approach.

WM 3R FR-T TS T ST hich 01 ! ARG T FTeahReor o |

12. Define functions of financial management:

forditar gsier o il ohl TRTTS Bhid
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13. Distinguish between marketing information systems and marketing Research.

foraum g Tsfd wa faqum Teron H SR FifSw

14. List out different distribution chanhels.

forfit foraeor gonferai <l Yeterg I |
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15. Describe briefly the basic steps to be followed in developing PERT/CPM programme
How does PERT differ from CPM ?

o1 § R 3/ @ W Y & faem H uer foRd S arel yRfie el o1 e § 9o
Hifera | Ot E R A, W W T 9 e FE B

16. What is rank correlation ? How it is'measured ? Why rank correlation is used ?

O FeEsY T € | THH UMY . frar St €2 Joit Teds o1 GAT i fohan S 2
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Define a simple random sample. Describe briefly some practical methods of drawing a

17.
random sample from a finite population.
HIYRY Ag=s Ffaee ol qRTYG wifse | Tk e o 9 agss gfaeel &1 =&- & &
e g saaeiie fafidl &t dam § fag=m it
18. Explain generic strategies. How these strategies can be used to gain competitive

advantage ?
SR LS ol T Ty S ol 9 fhd TR wfaaifidrctss -y Sam@n S gehdl
7?7
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19. Discuss the basic features of small enterprises.

T UM <k JAYd A&V i <=l RIS |

20. Identify the ethical issues involved in, gender related problems in organisations.

et § T enenfid gai & stafifed Hfdeh U9l bl Ug= it |
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Note :

21.

22.

23.

24.

SECTION - III
Qug —II1

This section contains five (5) questions from each of the four different electives
specialisation. The candidate has to choose only one elective specialisation and answer
all the five questions from it. Each question carries twelve (12) marks and is to be

answered in about two hundred (200) words.
(12x5=60 marks)

39 Ge | ur Ufess uril 9 fore e gis-di= (5) 99 &1 Tt we Ufesssm w1 =mH
SHITSTT IR STH Geft uie Wl o S A < 4 (200) veal § S | J T & 12
3

(12x 5=60 3ich)

Elective - I

faerea —1

“Selection process identifies candidates who are competent in that process rather than
candidates who are most competent to perform the job on offer”. Discuss.

“ <o ik T AeAfAT i g A § ol 6 Fishal H Wam € 7 o T el S fed
o ! A & fore Tefen wam §1'7 faawmwi |

“360 degree appraisal may have.many advantages, but there is the argument that it
can never really work becausesof the built in biases”. Discuss.

“360 feilt qoaiehd & e QI & TR ©, Tfehd TEn off 7k fean S € foF o weft wm T
AT § Hiifen 39 wAiHa v ¢ 1’ fod= wifs |

“No matter'how much we encourage individuals to plan their careers, at the end of the
day it,comes down to opportunity and chance”. Discuss.

T T < SAfaal sl St g @t Aietn s o fore 9fka o8, o7d | haet 3Ta 3R
A WA T g g1’ oo sifsm

“Job evaluation does not produce equitable payment, it merely produces a ramshakle
method of justifying the status quo”. Discuss.

" Sifa Yo FHM TAE Tel USH FHT 8, T8 A Fiefd Hi SR W o fau gere
fafa &1 faa=m sifaw)
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25.

21.

22.

23.

24.

25.

21.

22.

“In the recent years due to a variety of reasons and compulsions ‘Industrial Relations’
is being pushed towards ‘Employee Relations’.” Discuss.

‘o & o Tl | fafie Sron e sTafEridiei wi aee ¥ ¢ oTeifitn ey’ @l e gey
i 3T kel ST @I 1" faere=m &)

OR / 319

Elective - II
fasmea—1I1I

Explain the stages in the New product development.

i g o o o fafys staensti @i s |

“Packaging is an effective marketing tool”. Discuss.

“ YeRfSiTT forqur k1 guTel STt 1" fererer T |

How do you distinguish marketing of servi¢es from marketing of products.

Teqsll o faqur e Janedi & foqum & Sie &rd &Y SFa H |

Explain the mature and significance of customer relationship management.

UTeeh Hel¥l Yot hi Tehid T Hewe) IS0 hifsg |

What are the essentials,of a good brand ? Explain the advantages of branding.

Teh TS| A i SATETHRAIE FHT € 2 ST o AT T IUH HifT |
OR / 31an

Elective - III
fasrea—111

Discuss the utility of common size analysis and index analysis.

-1 fager &R Fereh-foeeror & g st foee=m &l

For analysing the risk involved in capital budgeting decision, simulation is superior to
sensitivity analysis.

Yefi-asiR & Fofa & Siifem o1 foweroon s | Horgmsiierar faveroon ¥ STE9d 9e ¢ |
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23. The stock of P Ltd. performs well relative to other stocks during recessionary periods.
The stock of Q Ltd. On the other hand, does well during growth periods. Both the
stocks are currently selling for Rs. 50 per share. The rupee return (dividend plus price)
of these stocks for the next year would be as follows :

Economic Condition

High growth Low growth StagnationRecession

Probability 0.28 0.32 0.22 0.18
Return of P Ltd. Stock 55 50 60 70
Return of Q Ltd. Stock 75 65 50 40

Calculate the expected return and standard deviation of«
(a) Rs. 1000 in the equity stock of P Ltd.;
(b)  Rs. 1000 in the equity stock of Q Ltd;
(c)  Rs. 500 in the equity stock of P Ltd and Rs. 500 in the equity stock of Q Ltd.
(d) Rs. 700 in the equity stock of P Ltd and Rs. 300'in thefequity stock of Q Ltd.

Which of the above four options would you chgose 2, Why ?

Hel ot ety | P fafids #1 =i o Wi | dea fPIed <d 71 gEd @ Q fafies &
Wieh 3 el § famm ot srafy § gl fHoaeT i €1 <Ml i aaa 999 § T. 50
yfaeis fa W &1 39 SHI Wik o1 STiTel oY H ®9a1 Giahal (i 91 shind 9fed) 7=

TFR T :
3 <M
s e aE e w9
RRIEN 028 032 022 0.8
p fafiee & Riw w1 gldha 55 50 60 70
Q fafaze & wE #wufawa 75 65 50 40

ffafad fasheul o ford sTufara fawer den wes fa=rer st oM shifs |

(a) P fafiee % wwig § % 1000 Tk

(b) Q fafaee & wHiw % 1000 ek

(c) P fafaee & 99w § % 500 T iR Q fafee & wmiw # . 500 Akl
(d) P fafges & e # % 700 1 iR Q fafiee & wmist # %, 300 A1
S =R fashedl § § o119 forg fashey &1 gAE Sl IR Fii 2
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24.

25.

21.

22.

23.

24.

25.

Discuss the meaning and utility of Factoring and forfaiting and distinguish between
them.

TERRIT SR HiHseT o 37¢f IR STIRTar ot == &L iR SHI & i Sl T |

Explain transaction exposure, translation exposure and operating exposure with
reference to International Finance.

SR foa & Heel H oH-SF ITUEH, TR IGHEA AR FTeish IHTHA i THeT |
OR / 31er&T

Elective - IV
fasmea—1v

Discuss India’s foreign trade policy changes in the post liberalisation era as a sequel to
globalisation.

AT & ShH H SRR o &1 YR o foaeent =R ffaai & e st afiad=i ot faa=mn
hifeTT |

Explain the Export Documentation Procedure:

fratd srerpa=eE fafy w1 9o SIS

Examine the importance of Marine Cargo Insurance.

T AT STHT o Hecd hl URISTOT Fhifsid |

Discuss the relationship amongst the interest rates, exchange rates, inflation and
purchasing power by using parity theorems.

A fASTd 1 &N hid gU A <4, fafwa <, Twifa qen g AR & o= el i
fora=r whifsiay

Discuss the relevance of Trade Blocks in the context of Globalization.

SIYEIHTOT & Hou H IR scAfeh ohi Tiefehdl &) fae=m sifsa |
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SECTION - IV
REREE MY

Note : This section consists of one essay type question of forty (40) marks to be answered

26.

in about one thousand (1000) words on any of the following
topics.
(40x1=40 marks)

TGS H TSk A (40) 3kl o1 fea-arcess 3 € fouem s fFafafea farai | 9
Hedl Teh I, ST Ueh &R (1000) =gl | 27U & |
(@0x1=40 3F)

“In the emerging global business scenario, collective bargaining is the best method to
decide about matters related to terms of employment relationship,as well as the
relationship between the bargaining parties themselves”. Comment.on this statement
and discuss types of “flexibilities” that are being negotiated at'the workplaces.

I BT Sfveh eI aReed § ISR Gedl o Hiearsit, vt arel &l o St STt

eei | I 3¢ AMal W foig o o foe arjfes dikenst @eds usfa ? 59 e WoeTa

feuqont <ifSe qen srefee W Seersh 63 S gt greraes | st fad=m sifs |
OR/3¥eIaT

Explain the characteristics of each/stage of product life cycle. Examine different
marketing strategies to be adopted in eachistage of PLC with illustrations.

IS STie =gk o fafire Tewensil 1 guid sifsre | fafie Saare o =g STawensti | 79-mt
ST et fafiysr faqum Torifaal st seer 9fed qderor shifs |
OR/3TerET

Proper working capital management is the backbone for success of the organisation.
Discuss various aspects of working capital management from angle of profitability and
liquidity.

HLATG i, T | 3fed Hvier Yl e Teh IRER g1 TneHehdl SR aerdl &
Y, R gt e o fafauamEi ot ==t o< |
OR/3TET

What are the unresolved contentions issues/areas before WTO ? Explain the rationale
behind the India’s stand in the WTO with respect to agriculture.

T 21311 & WA 1 7 TR T foaTeTeus e & 1 S 2 WRd Socl & S H i o Hae |
ot TR fearfa W O 9 aehemER

OR/31eraT
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Distinguish between complete enumeration and sample survey. What are the advantages
of sampling over complete enumeration. Describe in brief different sampling methods.

HEU IO A1 TSRt FEaTv i S St ey | Gfaew 1 §EUl VAT % Hehreel 1 AT
g1 faftm ufaee™ fafemil o Hém & i sifs)

D —-1708 31 P.T.O.



























FOR OFFICE USE ONLY

Marks Obtained

paureiqO
ST

pqunN
uonsanQ

76

77
78
79

80
81

82
83

84
85
86

87
88

89
90

91

92
93
94
95
96

97

98

99
100

paureiqO
ST

RpDquNnN
uonsanQ

51

52
53
54
55
56

57
58
59
60
61

62
63

64
65

66

67

68

69

70
71

72
73

74
75

paurelqo
SIRIAI

pDqUINN
uonsanQ

26

27
28
29

30
31

32
33
34
35
36

37
38

39
40

41

42
43

44
45

46

47

48

49

50

paurelqo
SIIAI

_quNN
uonsanQd

10
11

12
13
14
15
16
17
18
19
20
21

22
23

24
25

Total Marks Obtained (in words) ......cccccceeevvvenevccncnnne.

(in figures) .......cccoceiivciiiinnenns

Signature & Name of the Coordinator ............ccccccccceeunees

Date ..coovvvevvieiiieiinnn,

(Evaluation)

40

D—-1708





